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Kl,\l . Percent of a Number Word Problems

George saved 35% of the money-he earned. If @george earped $260, how much did he save?

.35 (3L0)= O” ) o X - 13050
= 2,0

The seventh grade students at WLMS are going on a field trip. As of today, 85% of the 280
students have turned in their permission slips. How ma% T\Udem‘s have turned in their
uC

¥ iontdlined /,
permission slips 26 (830> {»ML\ X _ 95

The Smith family spent 28% of its monthly income for housing. If the family's monthly income is
$3,200, how much did they spend for housing? $ /,

.a8(2200) @ hasg_ % _ 3%
0(‘3 3200 00

The frozen yogurt stand in the mall sells 420 yogur"r cups per day. Forty-five percent of the cups
are sold to middle school students. How many yogurt cups are %d to miﬁidle schoolers each day?
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Brenda earned $120 per week working at a part-time job. After taxes, her paycheck is only 78%
of what she earned. What is the a renda's check? '
dude. X _ 3
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Use the chart below. Suppose a secret message contains 1,200 vowels. How many of the vowels
are "E"?

<Vowel | Occurred (%)

. 30 P 2%
3(1300) (Buocp/a T asu

E
vowels- /s T 20%
E R - 20 0 20%
v 5%

Jerry.took a test with a total of 50 questions. His teacher told him that he must answer 90% of

the questions correctly to earn an A. How many questions must he answer correctly to earn the
C, west .
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= USqussy:
A glass of orange juice has 30% of the total daily allowance of calcium. The total daily allov.  ce
of calcium is 1,200 milligrams. How much calcium does a glass of orange juice have?
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9. Luis needs $45 to buy his mother a birthday present. He has saved 22% of the amount so fa-.

a. How much has he saved? ) b( 22
. 23(4S g
(q @ ovg 1S ~ oo 2,

b. How much more does he need? 8
nad X 1%
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10. The student population at WLMS is 52% female. The To’ra udem‘ poyu!ahon is 1,225 students.

a. How many girls go to WLMS?
5512357 b3 —-—-”‘ =22

b. How many boys go to WLMS?
4% (1228 @ SUBTRACT 1225~ L3 "““‘5 N
\Z’Lg’ 100

11. Lisa spent $18.95 on her lunch. About, how much money she should leave for a 20% tip?

'/
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12, In a survey, 500 teenagers were asked to hame ‘rhelr' GVOI“ITG sport to watch on television. How
many chose:

Other
5%

Golf
Tennis B Golf
12% vr "IFootball ;;ootl;alll'
Basketball B 25% aseba
20% O Basketball
Baseball ;:’)«::::s
X 20 >20% < x 25
S00 100 EES= 100 so0 " 100
a. Basketball: b. Golf: c. Football:
. 2(500) = 100 08 (500 =40 &5 (500) = 135

13. The dinner bill for the Johnson family was $58. Mr. Johnson |efT}l____Q of 15% of the bill.

a. What was the tip? N ! S
p X .
C15(SH) (331D S e
b. What was the total cost of the family's dinner?
€1"1% 10 5%.+%-"0

14. A dress is regularly priced at $120, and it is marked 20% of f the regular price.

a. What is the amount of savings. o amount that the dress was marked down?
.a0(120) * @ado00 )oe X .2
avgy - |
b. What was the new price for the dress? Y%
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